Quiz7 Name:

Microeconomics - EC 2106
Instructor: Robert McNab Score:

INSTRUCTIONS: Please answer all questions to the best of your ability within the alotted time of 15
minutes. You are required to show your work to receive credit. For multiple choice and true/false
guestions, please circle the appropriate answer. 10 possible points.

1. llustrate the difference between a purely competitive firm and a monopolistic firm making a profit,
and minimizing lossesin the short-run. 3 points

2. Assumethat Merck Pharmaceuticals creates a drug that cures male pattern baldness within seven
days and that alegal patent is rewarded to Merck for the drug Baldaway. Further assume that
Merck’s cost structure is the following: At a production quantity of 25.5 million units of Baldaway a
year, the marginal cost for the last unit of production is $4.50, the average variable cost of the last
unit of production is $10.75, and the average total cost is $13.50. Merck sells units of Baldaway at a
market price of $45 per unit. Part |: Graphically Illustrate Merck’s current operating environment.

Part I1: What are total revenues, total costs, and what is the size of Merck’s profit/loss for sales of
Baldaway? 7 points



Quiz7
Answer Key

1.

Check textbook and class notes for illustrations

2.
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Profit = (45-13.5) * 25.5
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